n ack We promise you're going to have a great experience.

smllllﬂlls Baldly?eative Expert Customer Service Focus On Quality Ships Same Day

PCI DSS Dual Lock
Secure Server Bracket

Installation Instructions

Kit P/N: 124-6909

RackSolutions.com If we can’t mount it, no one can.



Kit Contents

Kit Contents: Mounting Hardware:
(1) Secure Server Assembly (8) 12-24 x .500 Pan Head Screw
(2) Server Attachment Brackets (8) 12-24 Cage Nut
(1) Locking Bracket (Left) (4) 8-32 x.250 Countersink Screw
(1) Locking Bracket (Right) (9) 10-32 x .500 Pan Head Screw
(9) 10-32 Cage Nut

Secure Server Lock Installation Instructions

,é@@@@g/

0
0
0
,0° 0
0

Iﬂ/

Left Locking Bracket Right Locking Bracket

Step 1 Determine the location you would like to mount the Secure Server Lock: Insert (4)

Cage-Nuts into each the left & right rack posts. Be sure to center the Cage-Nuts
between 2 U-spaces as shown. Use (4) 12-24 Screws per side to attach the Left
and Right Secure Server Locking Bracket as shown below.

Note: Be sure to have the left and right brackets oriented correctly

\
3

i

o

A |

e

Page 2

RackSolutions.com If we can’t mount it, no one can.



Secure Server Lock Installation Instructions

Step2a  Determine the thickness of the server ears that you are going to use: Measure the
server ear thickness, and follow the table below for correct mounting location and
orientation of the Server Attachment Brackets.

Server Ear . . Bracket
Thickness Mounting Location Orientation
x-1.7" No Bracket No Bracket
1.7"-1.51" 2 B
1.5"-1.31" 1 A
1.3-1.11" 3 B
1.1"-0.91" 2 A
J"-.51" 4 B
531" 3 A
«“‘1
/ E mﬁ /é ET ma
D
o009l ° %i © m ’
I © 0,
/ E I\H\L m o
Bracket Orientation: A Bracket Orientation: B

-

\

3
S

T

Mounting Locations

(3= Location 4 =)
(3= Location 3 =
(= Location 2 =0
(3= Location 1 =)
,é e o o o

Page 3

RackSolutions.com If we can’t mount it, no one can.



Step 2b  Attach Server Attachment Brackets:  Once location and orientation have been
determined, attach the server attachment brackets to the left and right locking
brackets using the (4) 8-32 Countersink Screws.

-

Left Locking Bracket

|
i
i
|
I
i
-k
i
|
i
-L
|
|
|
I
i
Right Locking Bracket -

Step 3  Attach Server to the Attachment Brackets:  Attach your selected server to the
Attachment brackets through your prefered method. If using rails, follow the
manufacturers installation guide.

Note: Use the Server Attachment Brackets as the new front mounting locations
of your rack.

Step 4  Attach Secure Server Assembly:  Once your server is installed, attach the secure
server assembly by sliding over the locking brackets.
Note: Locks Must be on the LEFT side of the assembly.

Warranty Statement

Innovation First, Inc. warrants our products against defects in material and workmanship for a
period of one (1) year from the date of purchase. Innovation First, Inc. liability shall be limited to
repairing or replacing, at our option, any defective product.

RackSolutions.com If we can’t mount it, no one can.




